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  ijh{kkfFkZ;ksa ds fy, lkekU; funZs’k % 
GENERAL INSTRUCTIONS TO THE EXAMINEES: 

1- ijh{kkFkhZ loZizFke vius iz’u i= ij ukekad vfuok;Zr% fy[ksaA 
 Candidate must write first his / her Roll No. on the question paper compulsorily. 

2- lHkh iz’u djus vfuok;Z gSaA 
 All the questions are compulsory. 

3- izR;sd iz’u dk mÙkj nh xbZ mÙkj&iqfLrdk esa gh fy[ksaA 
 Write the answer to each question in the given answer-book only. 

4- ftu iz’uksa esa vkUrfjd [k.M gSa] mu lHkh ds mÙkj ,d lkFk gh fy[ksaA 
 For questions having more than one part, the answers to those parts are to be written together in 

continuity. 

5- iz’u i= ds fgUnh o vaxzsth :ikarj esa fdlh izdkj dh =qfV@varj@fojks/kkHkkl gksus ij fgUnh Hkk"kk ds iz’u 
dks lgh ekusaA 

 If there is any error / difference / contradiction in Hindi & English versions of the question paper, the 

question of Hindi version should be treated valid. 
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6- Hkkx         izz’u la[;k    vad izR;sd iz’u  
v     1  & 8      1    
c     9  & 14      2  ठ⃚

l       15 & 24     3  
n     25 & 30     5   
Part           Question Nos.         Marks Per Question 

A     1   -  8                     1      

B     9   -  14                                2                    

C     15 -  24         3                 

D     25 -  30                                     5 

7 -   iz’uठ⃚dzekad 28 ls 30 esaa vkUrfjsd fodYi gSaA 

ठ⃚ Threre are internal choices in Q.No.28 to 30. 
 

                                 Hkkx ¼v½ 

           Part (A) 
iz-1- csfdax ikmMj ds nks izeq[k ?kVd fyf[k,A            

Write the two components of baking powder.        ¼1½ 
iz-2    mu ikS/kksa dks mxkus ds fy, mi;ksxh tuu fof/k dk uke fyf[k;s tks cht mRié djus dh {kerk [kks pqds gSaA   

Write the name of reproductive process in the plants which have lost the capacity to produce seeds. 

 ¼1½ 
iz-3- Dyksjhu leLFkkfudksa ds ijek.kq Hkkj fyf[k,A          

            Write the atomic weight of chlorine isotopes.         ¼1½ 

iz-4- fuEukfyf[kr esa ls izzcy vEYk ,oa izcy {kkj gSaA         

¼v½  ,slhfVd vEy vFkok gkbMªksDyksjhu vEYk          

¼Ck½  lksfM;e gkbMªªksDlkbM+ vFkok dSfYl;e gkbMªksDlkbM        
In the following strong acid and strong alkaine base is-      ¼½+½=1½ 

(a)       Acetic Acid or Hydrochloric Acid 

(b) Sodium hydroxide or calcium hydroxideठ⃚

iz-5-  fdlh fn, x, {ks= esa pqEcdh; {ks= ,d leku gSA bls fu:fir djus ds fy, vkjs[k [khafp,A    

The magnetic field in a given region is uniform. Draw a diagram to represent it.    ¼1½ 

iz-6- vEyh; vkWDlkbM ds uke fyf[k;s ftuds }kjk vEyh; o"kkZ gksrh gSSA        

Write the name of acidic oxides which are responsible  for acid rain.     ¼1½ 

iz-7-   fdlh {kSfrt 'kfDr lapj.k ykbu ¼ikoj ykbu½ esa iwoZ ls if’pe fn’kk dh vksj fo|qr /kkjk izokfgr gks jgh 

gSA blds Bhd uhps ds fdlh fcanq ij pqEcdh; {ks= dh fn’kk D;k gksxh\       
A current through a horizontal power line flows east to west direction. What is the direction of 

magnetic field at a point directly below it?         ¼1½ 
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iz-8- fn, x, ifjiFk fp= la;kstu esa 10' izfrjks/k ls izokfgr /kkjk I2ठ⃚ठ⃚Kkr dhft,A          

 

 

 

 

 

 
 

In the given circuit diagram calculate the current I2 through the resistor of 10'.    ¼1½ 

 

 

 

 

 

 

 
   Hkkx ¼c½ 

Part (B) 

iz-9-  la;ksstu vfHkfØ;k fdls dgrs gSa\ fcu cq>s pwus o ty dh la;kstu vfHkfØ;k fyf[k,A       
What is combination reaction? Write combination reaction of quick lime with water.    ¼1+1=2½ 

iz-10-   mÙke mtkZ lzksr dh pkj fo’ks"krk,a fyf[k;sA         
           Write four characterstics of the good source of energy.        ¼½×4=2½ 

iz-11- Mªªªkboj dks jkf= esa fdl izdkj ds izdk’k iqat dk iz;ksx djuk pkfg;s ,oa D;ksa\ Li"V dhft;sA ठ⃚
 In night which type of beam of light is used by drivers and why? Explain it.        ¼½+1½=2½ठ⃚

iz-12 letkr vax dks mnkgj.k }kjk Li"V dhft;sA             
Describe homologous organs with the help of example.              ¼½+1½=2½ 

iz-13- –f"V ds fy, gekjs nks us= D;ksa gS] dsoy ,d D;ksa ugha\ bl rF; dks fuEu vk/kkjksa ij Li"V dhft,&            

¼v½  –f"V {ks=                 

¼c½ foeh; vk/kkj ij                 
         Why do we have two eyes for vision and not just one? Explain the fact on the basis of – 

(a) Field of view            ¼1½ 
(b) Dimensional view           ¼1½ठ⃚

iz-14-  thok’e dh ifjHkk"kk fyf[k;s rFkk blds le; fu/kkZj.k izfØ;k dks Li"V dhft,A        

     Write the definition of fossils and explain the process of dating of fossil.      ¼1+1=2½ 
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 Hkkx ¼l½ 
Part (C) 

iz-15-  ¼v½  izdk’k la’ys"k.k izØe dh jklk;fud vfHkfØ;k rFkk bl izØe ds nkSjku gksus okyh ?kVuk,a fyf[k;sA    

¼c½ okgu dh gSM ykbV esa dSls niZ.k dk iz;ksx fd;k tkrk gS\       
(a) Write the chemical reaction of the photosynthesis and events occure during the process.  ¼2½ 
(b) Which type of mirror is used in head lights of vehicles?       ¼1½ 

ठ⃚iz-16-  ¼v½  vf/ko`Dd xzfUFk ls dkSulk gkeksZu lzkfor gksrk gS\ gkeksZu dk ,d dk;Z fyf[k;sA          

¼c½  okgu esa cSVjh ds dksbZ nks dk;Z fyf[k;sA        

(a) Which hormone is secreted by Adrinal glands? Write any one function of this hormone.  

   ¼1+1=2½ 

(b) Write any two function of betteries in vehicle.       ¼1½ 

iz-17-  jsMkWDl vfHkfØ;k fdls dgrs gaS\ vfHkfdz;k ZnO+C³Zn+CO esa fdl inkFkZ dk mip;u ,oa fdldk 

vip;u gks jgk gS\           

What is redox reaction? In the reaction ZnO+C³Zn+CO which substance gets oxidised  and which 

gets reduced?           ¼1+1+1=3½ 

iz-18- ¼v½  fdlh xksyh; niZ.k ds fy, vko/kZu dk lw= fyf[k,A        

¼c½  ml niZ.k dk uke fyf[k,] tks fcac dk lh/kk rFkk vkof/kZr izfrfcac cuk ldsA     

¼l½  mÙky niZ.k ds eq[; Qksdl dh ifjHkk"kk fyf[k,A         

(a) Write down formula for the magnification obtained by a spherical mirror.     ¼1½ 

(b) Name a mirror that can give an erect and enlarged image of an object.     ¼1½ 

(c) Define the principle focus of a convex mirror.         ¼1½ 
ठ⃚

iz-19- izfrorhZ pki dk ukekafdr fp= cukdj izfrorhZ fØ;k le>kb;sA       

    Draw a labelled diagram of reflex arc and explain reflex action.         ¼1+2=3½ 
 
iz-20ठ⃚ dkWye Xठ⃚dks dWkye Yठ⃚ls lqesfyr dhft, &         

    dkWye X ¼HkkSfrd jkf’k@fu;e ½          dkWye Yठ⃚¼lw=½                   
(i) fo|qr /kkjk    (a)ठ⃚ R = R1 + R2 + R3               

(ii) foHkokUrj    (b)ठ⃚ Ã =ठ⃚RA / 3  

(iii) vkse dk fu;e    (c)ठ⃚

21
R

1

R

1

R

1
+= ठ⃚

(iv) izfrjks/kdrk    (b)ठ⃚ V = W / Q 

(v) Js.kh Øe la;kstu   (e)ठ⃚ I = Q / t 

(iv) lekUrj Øe la;kstu   (f)  V = IR 
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Match the column X to column Y         ¼½×6=3½ 

            Column X (Physical Quantity/Law)            Column Y (formula) 

(i)ठ⃚ Electric current   (a)ठ⃚ R = R1 + R2 + R3               

(ii)ठ⃚ Potential difference   (b)ठ⃚ Ã =ठ⃚RA / 3  

(iii)ठ⃚ Ohm’s  Law    (c)ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚

21
R

1

R

1

R

1
+=  

(iv)ठ⃚ Resistivity    (b)ठ⃚ V = W / Q 

       (v) Series combination of resistor’s (e)ठ⃚ I = Q / t 

(vi) Parallel combination of resistor’s (f)  V = IR 

iz-21- ;fn v.M+ dk fu"kspu ugha gksrk gSa] rc D;k gksxk\ le>kb;sA         

  If an egg is not fertilized then what happens? Explain it.         ¼1+2=3½ 

iz-22 U;wySM~al ds v"Bd fl+)kar dks fyf[k,A         

      fuEufyf[kr ls leku xq.k/keZ j[kus okys rRo dk uke fyf[k,A 

¼v½  ukbVªkstu  

¼c½  fyfFk;e 

Write Newland’s Law of Octaves.        ¼1+1+1=3½ 

Write the name of element having similar properties of the following. 

(a) Nitrogen 

(b) Lithium 

iz-23-  pH Ldsy fdls dgrs gS\ Li"V djks fd eqag dk pHठ⃚ifjorZu nUr{k; dk dkj.k gSA         

What is pH Scale? Explain that pH change of the mouth is cause of tooth decay.     ¼1+2=3½ 

iz-24-  600W vuqer dk dksbZ fo|qr jsÝhtjsVj 8 ?kaVs@fnu pyk;k tkrk gSA 4.00 :Ik;s izfr KWh ds nj ls bls 

30 fnu rd pykus ds fy, mtkZ dk ewY; D;k gS\          

An electric refrigerator rated 600 W operates 8 hour/day. What is the cost of the energy to operate it 

for 30 days at Rs. 4.00 per KWh?         ¼3½ 

 

Hkkx ¼n½ 
ठ⃚ ठ⃚ ठ⃚ ठ⃚ ठ⃚ ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚Partठ⃚(D)ठ⃚ठ⃚

iz-25-  ¼d½  vkgkj J`a[kyk ls D;k vfHkizk; gSS\        

 ¼[k½  ?kkl ds eSnku esa  vkgkj J`a[kyk dks mnkgj.k }kjk le>kb;sA        

¼Xk½  ,d ifjra= esa mtkZ izokg dks vkjs[k }kjk Li"V dhft;sA          

  (a) What do you mean by food chain?        ¼1½ 

  (b) Explain the food chain in grassland with an example.     ¼2½ 

  (c) Explain the energy flow in an ecosystem with help of diagram.    ¼2½ 
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iz-26ठ⃚ठ⃚ ¼v½  dejs ds rki ij dkSulh /kkrq nzo voLFkk esa ikbZ tkrh gS\      

     ¼c½  ukbVªkstu o Dyksjhu ijek.kqvksa dk bysDVªksfud foU;kl fyf[k,A      

     ¼l½  ukbVªkstu o Dyksjhu ijek.kqvksa ds e/; bysDVªksuksa ds LFkkukUrj.k ls lksfM;e DyksjkbM+ dk cuuk    

n’kkZb,A            

    (a) Which metal exists in liquid state at room temperature ?     ¼1½ 

   (b) Write electronic configuration of nitrogen and chlorine atoms.    ¼2½ 

(c) Show the formation of sodium chloride by the transfer of electrons between nitrogen and 

chlorine atoms.          ¼2½ठ⃚

iz-27- izR;koÙkhZ /kkjk dh ifjHkk"kk nhft, rFkk bls mRiUUk djus okyh ;qfDr dh dk;Zfof/k Li"V dhft,A

 bldk ukekafdr fp= cukb, A blesaa /kkjk fn’kk ifjorZu dks le>kb,A        

Define alternating current and explain working of the device which produces it. Draw labelled 

diagram. Describe the change in direction of current.            ¼1+2+1+1=5½ठ⃚

iz-28ठ⃚ ¼v½  ekuo 'olu ra= dk ukekafdr fp= cukb;sA               

     ¼Ck½  euq";ksa esa vkWDlhtu rFkk dkcZu MkbZ vkWDlkbM dk ifjogu dSls gksrk gS] le>kb;sA      

vFkok 

     ¼v½  'olu fdls dgrs gSa\              

    ¼c½  ,d iÙkh dh vuqizLFk dkV dk ukekafdr fp= cukb;sA        

     ¼l½  ikniksa esa Hkkstu rFkk vU; inkFkksZa ds LFkkukUrj.k dks le>kb;sA         

  (a)  Draw a labelled diagram of human respiratory system.        ¼2½  

      (b) Explain the transportation of oxygen and carbon dioxide in human beings.     ¼3½ 

Or 

 (a)  What is respiration?            ¼1½  

 (b)  Draw a labelled diagram of cross section of leaf.        ¼2½  

 (c) Explain the transportation of food and other substances in plants.      ¼2½     

     

iz-29-  ¼v½ fizTe ls izdk’k viorZu dk fdj.k fp= cukb, rFkk 'osr izdk’k ds fo{ksi.k dh ifj?kVuk dks    

le>kb,A                    

¼c½ ysal {kerk dk lw= fyf[k, rFkk blds ek=d dks ifjHkkf"kr dhft,A           

vFkok    

 ¼v½  fuEufyf[kr dks le>kb,&  

(i)  Okk;qeaMyh; viorZu ,oa vfxze lw;ksZn;A        

(ii)  fV.My izHkkoA            

(iii) fudV –f"V nks"k ;qDr us= dk fdj.k fp= cukb,A      
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(a) Draw ray diagram of refraction of light through a prism and explain the phenomenon of 

dispersion of light.            ¼1+2=3½  

(b)  Write the formula for lens power and define its unit.        ¼1+1=2½  

Or 

            (a) Explain the following- 

(i) Atmospheric refraction and advance sunrise.      ¼2½  

(ii) Tyndall effect.          ¼2½  

(iii) Draw the ray diagram of an eye suffering from short sightedness.   ¼1½  

iz-30  ¼v½  csUthu dk v.kqlw= fyf[k,A          

¼c½  csUthu dk lajpuk lw= cukbZ, rFkk bles mifLFkr f=ca|ks dh la[;k fyf[k,A           

¼l½  fuEufyf[kr esa ls ,Fksu dkSulh gS\ blesa mifLFkr lgla;kstd ca|kss dh la[;k fyf[k,A   

ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ठ⃚ (i) C2H2  (ii) C2H4    (iii) C2H6  

(a) Write molecular formula of benzene.      ¼1+2+2=5½ 

(b) Draw structure formula of benzene and write number of triple bonds present in it.    

(c) Which is ethane in the following? Write number of co-operative bonds present in it. 

(i) C2H2  (ii) C2H4    (iii) C2H6        

vFkok 

Or 

¼v½  lkbDyksgsDlsu dk v.kqlw= fyf[k,A                

¼c½  lkbDyksgsDlsu dk lajpuk lw= cukbZ, rFkk blesa mifLFkr lgla;kstd ca+|ks dh la[;k fyf[k,A   

¼l½ fuEufyf[kr esa ls ,sFkhu dkSulh gS\ blesa mifLFkr f}ca| dh la[;k fyf[k,A     

(i) C2H2  (ii) C2H4    (iii) C2H6  

(a) Write molecular formula ofठ⃚cyclohexane.       ¼1½ 

(b) Draw structure formula of cyclohexane and write number of co- operative bonds 

present in it.            ¼2½ 

(c) Which is ethene in the following? Write number of double bonds present in it.  ¼2½ 

(i) C2H2  (ii) C2H4    (iii) C2H6      
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